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Unit 1B Day 15: Variables on Both Sides

Focus Question: How do [ solve an equation with varie

A.

B.

Date: XKA)\ b,h ) Hour Alg 1

705
DEOE

’ i

bles on both sides of the equal sign?

From a Picture to Symbols

| How many coins are in each pouch?

like when it is done algebraically?
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An equation is solved when a variable is isolated on one side of the equal sign. In order for this to

happen, the variable can only be on one side. You must decide which side is going to be the
variable side before you can continue solving! You are strongly encouraged to label your choice.

Solve each equation below and then check your solution when told.
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3. 2(2x+6) = 2x — 12

—ﬂ.

Check:

Chelsea‘s test had the problem 4(2x — 10) = 6x + 20. Her work is below. Explain her error(s) in reasoning.

4(2x — 10) = 6x + 20
4(2x) + 4(—10) = 6x + 20
8x — 40 = 6x + 20

+6X -6X
14x — 40 = 20
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